I am running red hat linux  version. 7 . I have noticed that there is a defect in the operation of  the COMM command . For your reference 

comm (GNU textutils ) 2.0e 

written by  Richard Stallman and David McKenzie.

Copyright© 1999 FSF Inc.

BASH_VERSION = ‘2.04.11(1) release.

 I have two files exp1  and  exp2 with contents ,

 exp1                           exp2

-------                          -------

stephen                     robins

binu                          stephen

nitin                          nitin

comm –12  exp1  exp2 

o/p  is     stephen 

                nitin

OK  this is fine  (NOTE THAT THE FILES ARE ABPSOLUTELY PERFECT. NO TRAILING WHITESPACES ARE PRESENT) 

 Now I remove both exp1   & exp2   .  Create them once more with the following content

   exp1                          exp2

---------                        --------

stephen                       stephen

robins                          binu

nitin                             nitin

comm –12 exp1 exp2 

o/p  is  stephen

this is a wrong output . (NOTE THAT THE FILES ARE ABPSOLUTELY PERFECT. NO TRAILING WHITESPACES ARE PRESENT)

Again  I remove both exp1   & exp2   .  Create them once more with the following content

exp1                                   exp2

-------                                 --------

robins                                stephen

nitin                                   binu

stephen                              nitin

comm –12 exp1 exp2 

o/p  is  stephen

this is a wrong output . (NOTE THAT THE FILES ARE ABPSOLUTELY PERFECT. NO TRAILING WHITESPACES ARE PRESENT)

could you please explain.

